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In series, which will burn brighter?
a) 50 W bulb

b) 100 W bulb ol |
c) equally bright

d) not enough information
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In this tutorial, we construct a model for electric current that we can use to predict and explain the

behavior of simple electric circuits.

I. Complete circuits
A. Obtain a battery, a light bulb, and a single piece of wire. Connect these in a variety of ways.
Sketch each arrangement below.

Arrangements that do light the bulb Arrangements that do not light the bulb

You should have found at least four different arrangements that light the bulb. How are these
arrangements similar? How do they differ from arrangements in which the bulb does not
light?
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2. The ciruit at ight contains an idel batery, three dentcl lght
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With the switch open: L B €
Rank the brightnesses of the bulbs. Explain. Switch
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After the switch closes:

Does the brightness of bulb A increase, decrease, ot remain the same? Explain.
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